O
+
[£3]

nay] xnid

E0+4
>
50+d
£0+

00001 00S 0 000S-
L LI N B B B T 0
- — oot
N - _ "y
— e — 00¢ o
u — - Q
- ] =
- 0 - 00g 35
| . _ (@)
n _ <
— — oo¥
90002~ €0+d26695°'3~ ¥0+d¥808%'1 “E€0+dL6EET ' 8—gd10Ud
€690°'2E0+H9G6LLY' 2~ ¥O+HGOLSH 1~ E€0+HSTI #¥90'8—-1d10Ud
660°c_E€0+HLVISS €~ ¥0+dEQLLE'T _E0+HZ9ESI 6 L“«Oﬁ
91112 §0+43gLySP g yO+ASQLQE | ~E0+I29EE9 6 T3]
[ ]y
21 0 8
I I _ I I I _ I I I _ I
B i =
D
o
000%— =
=)
-
0]
0002— 3
=
0 S
S
()
—- 0002 C
= | 1 MGANIM ~ 2 MOANIM- —
| | | | | | | | |

0d

— QH ‘suonjejs
0 PoUaIdg odd

NSIdd -wWstay

MOONIM V “10Yd-

2 MOdNIM g "ioud 2
I MOAGNIM 8 "oud |} MOGNIM Y "0UdH
1 1 1 1 1 1 | 1 1
HEio_,«
cl 1 8

1 1 T 1

-+

\\\\\

NI B A A A A

| 1 1 1 | 1 1 1 | 1
8G-9¥-c0L90-£0—-800<2 -231ed
SNIS" HOIH -°PON
eAH-jJle/eAH—]le :Fae]

=
S
0c
)
o
oy &
(@]
3
()
09 S
<
08 o
S
0
20
<
70 m
.
90 =
<
80
I



